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What is the process pictured 
at the right?                  
2. A new virus is spreading throughout a jackrabbit population. Explain why high genetic diversity would be an advantage in this scenario.
3. Which of the following statements is true about the theory of evolution?

a. The theory of evolution is the best explanation for the diversity of organisms found on Earth.

b. The theory of evolution has been proven to be the only explanation for the diversity of organisms found on Earth.

c. The theory of evolution has been unable to explain the diversity of organisms found on Earth.

4.  What process is occurring in the picture above? 
5. Why would it be an advantage to produce more offspring than can survive? (HINT: think about sea turtles)

6. Which of the following increases the genetic diversity of a population?

a. Crossing over during meiosis

b. Recombination

c. Independent assortment

d. Random fertilization

e. All of the above
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4 What is natural selection and what impact does it
have on a population?

Who was Darwin?

What was his contribution to biology?

Natural Selection

Description: Picture:

‘ Elements of Natural Selection




7. What are the four elements of natural selection (look at your notes!)

8. What is differential reproductive success?
9. A population of blue morpho butterflies are swept away by a severe storm. They are blown to a new habitat which is miles away from their original home. These butterflies are able to find a population and successfully interbreed with some of the butterflies there. This is an example of—
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Bottleneck                   

b. Mutation                                   

c. Gene flow

d. Gene recombination

10. If a scientist clipped the wings of a pair of insects, their  offspring would not have clipped wings. Why?
11. Sometimes new alleles (traits) that have never existed before appear in populations. What two things could cause these new alleles to appear?

12.  Crossing over, recombination, independent assortment, and random fertilization increase the genetic ____________ of organisms.

13. The Galapagos finches became various different species on the different islands.  Which of the following is the least likely reason for this adaptive radiation? 

  
a. Random mating between the finches

b. Different island environments

c. Variation in the length of finch beaks

d. Variation in the shapes of the finch beaks

14. When are mutations beneficial?
15. Fill in the blanks:
16. In the scenario from #15, what would you call the trait that made the insects resistant to pesticides?
a. Extinction

b. Convergent evolution

c. Divergent evolution

d. Adaptation
17.  After geographic isolation has made two new species, will those species be able to reproduce if they are put back into contact with one another?

18. Divergent evolution produces______________________ structures, while convergent evolution produces _______________________structures.

19.  T or F: Analogous structures do NOT provide evidence of common ancestry among groups.

20. T or F: Adaptive radiation is a form of divergent evolution.

21. What is being made in the picture to the right ?                  
a. unchanged original compounds.
b. functional mitochondria and chloroplasts.
c. organic molecules and simple amino acids.
d. inorganic molecules and electrons.
22. RNA is thought to have come before DNA because it has the ability to________________________________.
Word Bank:


Pesticide-resistant


Reproduce


Survive


Pesticides
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Pesticide-resistance in insects occurs in the following steps:


The insect population is sprayed with_____________________.


Some individuals _______________________.


The surviving insects _________________________ to pass on their genes.


The resulting insect population is _________________________________________.











